@ pTGROUP ooz

Taroso-cLenHoe YyCTPOMUCTBO
™mna AV

UHCcTpyKuMs No yCTAHOBKE
U aKcnnyatauuu

AV type coupling device

Installation and operating instructions

v Aa (Yes)
CbéM
6éamnepa

Her (No)

Bumper
disassembles

Ba (Yes)

MNoppeska

0 - éamnepa
-“\ ‘ Her (No)
\ a s
2 cutting

ApTukyn: Mapka 1 Mmogenb asToMo6uns:

GMN-21-991422.00 GEELY Monjaro 2021-*

* - MogxoguT Ha komnnekTaumm ¢ 2021 r.B. NO HACTOSILLEE BPEMS.
Suitable for configurations from 2021 to the present.




3HakomcTBO ¢ Bawum papkonom

Papkon TMna AV OCHALLEH BbICTPOCHEMHOM CUCTEMON AEMOHTAXA CbEMHOWN
yactv dapkona (KproKa) C KIKoYEBLIM AOCTYMOM 1 COYETAET B cebe yao6CTBO
3KCMAYATALMN U BEICOKYIO CTENEHb 3ALUMLLIEHHOCTWN OT NOTEHLMASBHOM KPOXMU.
BbirogHbIM NPEenMyLLIECTBOM KOHCTPYKLMK dapkona Tmna AV 9BageTcs To, UTO Npwu
AEMOHTUPOBAHHOM KPIOKE HO BTOMOGUIIE OTCYTCTBYIOT BU3YASbHbIE MPU3HOKM
YCTOHOBAIEHHOro dapkona.

YCTOHOBKAO U CbEM KPIOKA HE TPEeByeT KOKUX-NTMB0 MHCTPYMeHTOoB. Cnuctema
3ANUPAHKS KPIOKA HO MPUEMHOM YACTK GAPKOMA BBIMOHEHA C MOMOLLBIO CAELNANbHO
PA3PAGOTAHHOrO CTOMOPHOO MEXAHM3MA. [1pK YCTAHOBKE KPIOKA €ro dukcaums B
MNPUEMHOM YOCTU GAPKONA MPOUCXOANT ABTOMATUYECKW. [115 AEMOHTAXA CbeMHOM
yactv papkona (kproka) TpedyeTcs BCero ABa AeNCTBUS: MOBEPHYTH KoY B OTKPbLITOE
COCTOSIHUE U YCTAHOBUTb PYUKY KPIOKA B MOMOXEHMUE PA3BIOKMPOBAHO, YTO B
3HAYNTENBHOWM CTEMEHM NOBbILLAET KOMGOPT SKCMNyATALMKN GAPKOMA.

Kaxgein kprok dapkona tuna AV nogeepraetcs S0-4aCcoBOMY CNELMUAIbBHOMY
NCABbITAHWIO HA YCTANOCTb B NA60PATOPUN Npou3BoanTens. Bo Bpems AaHHOro TeCTa B
TeYEHUU 2 MUIITTIMOHOB LIMKITOB UCTIBITBIBAKOTCS XAPAKTEPUCTUKM KPIOKA HA
COOTBETCTBME 3ASBNEHHbBIM TArOBbIM NAPAMETPAM.

OTO rAPAHTUPYET HAM, UTO KOXAbIN MPOAYKT MMeeT OAUHOKOBOE KAYECTBO.
KauecTtBO npopykumm Takxe NoaTBepxaeHo ceptugukatom Ne. E4 nonyyeH
NHcTuTyTOM cepTudmkaumm RDW B lfonnanguu.

Meet your AV type coupling device

The AV type coupling device is equipped with a quick-release system for
dismantling the removable part of the device (towball) with key access and combines
ease of use and a high degree of security against potential theft. Advantage of the
AV type coupling device design is that when the towball is disassembled, there are no
visual signs of an installed towbar on the vehicle.

Assembly as well as disassembly does not require any tools. In these systems a
towball is mounted to the socket by a specially designed locking bolt. It can be
mounted by plugging the towball to the socket and it locks itself automatically. To
disassemble the towball, only two steps are required: turn the key to the open position
and set the towball handle to the unlocked position. Automatic systems significantly
raise the comfort of usage.

Each towball, before market sale, is subjected to approximately 50-hours of a
special fatigue test in producer laboratory. The test is based on checking its strength
by 2 million cycles under certain weight. It ensures us that every product has the same
quality.

The quality of our products is also certified with approval no. E4 received by
Certification Institute RDW in Holland.




[NacnopT usgenus

Product passport

GMN-21-991422.00




Knacc npoyHocTH MeTu3oe: BonT - 8.8, Faika - 8 )
(Hardware strength class: Screw - 88, Nut - 8)

&{ M10 47
Kopnyc Q&omm M12 80 )
Banka TCY 3aknagHas geTtans 6biCTPOCHEMA
(Coupling device beam) (Embedded part) (Towball socket)
~
x1 5 x1 6 x6 7 x6 8 x4
Ly =
[N 7Y
L/\f M -
srcrpocsing towsal) | Soekat brocier” M10x1,25x35 M12x25 M12x1,25x35
x4 x10 x10 x6 x10
9 10 G 11 12 13
\@
M10x1,25 10 12 10 72
o J
TeXHMl-IeCKMe D= (g*T*A)/(T+A) - ropuaoH- D= (g*T*A)/(T+A) - horizontal
TAbHAS CUNA, AENCTBYIOLLAS force acting between the
Xa pq KTeP“CT” KU Mexay TAra4yoM v NpULLENOM; tractor and the trailer;
Technical .. H - MmakcumanbHoO gonycTuMas H - maximum allowable static
characteristics CTATUYECKAS BEPTUKANBLHAS vertical load on the ball;
HArpy3Ka HaA LWap;
Tun (Type): A50-X T - technically permissible
T- TexHnyeckun gonyctumas maximum weight of the
D(kN) H(kg) MOKCHMAmbHAS MACCA TAraYa; vehicle;
79 75 A- MOKCMMANbHAS MACCA A - maximum trailer weight
npuLena no 4AHHbLIM according to the AV type
T(kg) Alkg) (I'IpOMBBOLI,VITeJ'Iﬂ TCy. (coupling device producer.
* - ons npuvuena,o6opyno- * - for a trailer equipped with
2265 750/1250* | sanHoro TOPMO3aMM) brakes)
- J




-

Tpe6oBaHus K 6€30NACHOM IKCNAYAaTALMM:

SESESNSESEE

S

SN

S

SESEN

S

Mepen ycTaHoBkon TCY HEO6XOOAMMO YTOUHUTL BOBMOXHOCTb BYKCUPOBKM NPULLENd As AAHHOTO
CGBTOMOGWIS B PYKOBOACTBE MO IKCMTYATALMM.

YCTAHOBKY W akcnnyaTaumio TCY NpoBOAUTL B CTPOFOM COOTBETCTBUM C AAHHOM MHCTPYKLMER MO
YCTOHOBKE.

3o1r|peu_LoeTc9| YCTAHABAMBATL M3fenne HaA Opyryto MAapky 1 Mmoaesnb QBTOMOGUNS.

YctaHosky TCY BbINOAHATL B CNELMANN3NPOBAHHOM CETPUGULIMPOBAHHOM YCTOHOBOYHOM
LeHTpe. 3anpeLLaeTcs BHOCUTb U3MEHEHNS B KOHCTPYKLMo TCY.

Mpn 06HAPYXEHUN KOHCUCTEHTHOM CMA3KM B MECTAX NPUNEranms ¢apKona eé HyXXHO YOAnuTb.

B HeKoTopbIx ABTOMOBUIISAX C MAPKTPOHNKAMM BO BPEMS €3[1bl C YCTAHOBMEHHbBIM KPIOKOM
NOPKTPOHMKM MOTYT OBHAPYXUTb LLAP KAK NpensTcTene. B aTom cnydyae HOpo NnepeHacTponTb
nepeness Paanyca OenCTBUS OATUMKA UMM UX BbIKITIOUNUTL. [TAPKTPOHUKM paGOTAOT KOPPEKTHO
B Cly4Yae OEMOHTAXA CbEMHOrO Kptokd $apkona.

Cnepnyet yu4nThIBATb MHOOPMALMIO M3rOTOBUTENS TPAHCMOPTHOrO CPEACTBA O MAKCUMASbHOM
BENMUMHE HArPY3KM (MOKCUMAsbHAS MACCA MOSIHOMO MPUUENA 1 AOMYCTUMAS BEPTUKANbHAS
HArpyska Ha Wap). 3anpeLLaeTcs NpPesbILLATL AOMYCTUMbIE NAPAMETPbI CLEMHOMO YCTPOMCTBA.

Bo BpeMst 6yKCUPOBKM MPULEN AOMKEH 6biTb COEANHEH CTPAXOBOYHBIM TPOCOM (Lembio).

Kaxxpbie 1000 kM cnefyeT NpoBepsTh 3ATHKKY BCEX COeAnHEHUN. PekoMeHayeTcs conepxaTb
LIAP B YUCTOTE, MCMOMb30OBATH MIACTUYHYIO CMA3KY NMepep, KOXO0M YCTAHOBKOW LWApAd U
NPVMEHSTb KONMAYOK. B cnyyae e3fnbl 6e3 npuuena HeOBXOAMMO CHATb LLIAPD Y YCTAHOBUTD
3AMyLLIKY BO U36EXAHWE 3ArpsS3HEHUS MEXAHM3MA. Bce MeXOHMYEeCKMe NOBPEXAEHUS CLEMHOro
YCTPOMCTBA UCKITOUAIOT €ro AAsbHenLLYo aKernyaTaumio. NospexneHHoe coegnHutensHoe
YCTPOMCTBO PEMOHTY He MOANEXUT. B criyyae HapyLLeHUs MPABUI MOHTAXA WK HEMPABUIBHOTO
MCMOJb30BAHUS MPOU3BOAUTENb HE HECET OTBETCTBEHHOCTM 30 BO3MOXHbIE MOBPEXAEHMS.
Mepen KaXabiM MOHTOXOM KPKOKA ero NMpuéMHoe OTBePCTUE HEOBXOAMMO OYUCTUTL OT BCEX
BMOOB 3ArPS3HEHUS U HOHECTU CUIIMKOHOCOAEPXALLYIO CMA3KY.

MpounssogmTENb rAPAHTUPYET COOTBETCTBME UIAESNS XAPAKTEPUCTUKAM, YKA3AHHBIM B
nacnopTe, B TeYeHne rapaHTUMHOMO CPOKA, NPW COBMIOAEHUN TPEGOBAHUI MO YCTAHOBKE U
IKCNNYATALMM.

MpownsBoguTenb He HECET OTBETCTBEHHOCTM 3a HOHECEHME YLLEP6a UMYLLLECTBY TPETbUX MWL, B
pe3ybTaTe HeMPOBUIBHOTO XPAHEHMS 1 SKCTITYATALMM N34enus.

CrnepflyeT co6ntofaTh OTeYECTBEHHbIE NPABUNA opopmneHus TCY.

[OpPAHTUS HEe PACNPOCTPAHSETCS HO CIYyYau, KOrAa AedekTbl BO3HMKIIN MO BUHE NOTPedUTEns
WK TPETBUX MWL, B PE3YNETATE HAPYLLIEHUS NMPABKU TPAHCMOPTUPOBKM, XPAHEHNS, MOHTOXA,
3KCMAYATALMK, O TOK XE BHECEHUS U3MEHEHWI 1 JOPABOTOK B KOHCTPYKLMIO.

NHcTpyKLmMs no ycTaHoske TCY, pekoMeHayeMas NpounsBoauTeneM, 6bl1d PaspabéoTAHA HA
OCHOBOHMUN TEXHUUYECKMX YCIOBUI CO OHS MOArOTOBKM TEKCTA. B cnydae nsmeHenn unm
MOOMOUKALMM NPOLECCa NPOoaYKLUMM, O TAOKXE B CNydde paAcLUMpenms npuMmeHerms TCY,
npon3esoanTesib BrpaBe BHECTU U3MEHEHUS B TEKCT V]HCprKLLI/II/I.




Ve

Safety requirements:

8 880 -

8 «

SES

S

SESES

S

Before mounting of the coupling device check the user manual and registration book of the
car whether the vehicle is equipped to tow a trailer.

Device has to be installed and operated in a car according to this instruction.
Do not install the product on another type of vehicle.

The installation of the coupling device should be provided only by specialized certified
service center. Any alterationor modification of the coupling device is prohibited.

Remove the insulating compound and underbody coating - if there is any - from the area
around the contact surface of the coupling device. In case you found the grease in the
contact areas of the towball, it must be removed.

In the case of vehicles equipped with parking sensors, ride with a mounted ball causes
detection it by sensors as obstacles. | In this case, adjust the sensing range or disable the
acoustic parking System. If using coupling device with removable ball, the acoustic parking
system should function normally when the ball of tow bar is not in the operating position.

It should be considered information provided by the vehicle manufacturer about the
maximum load value (maximum mass of the full trailer and permissible vertical load of the tow
ball) at the same time acceptable parameters of the coupling device cannot be exceeded.

The trailer must be linked with an elastic joint with proper durability (cord,chain).

Check the screw connections after driving approx. 1000 km and for loosening nuts, the bolts
must be tightened. Always keep the towball clean and lubricated with grease. Use the
towball shield. All mechanical damages of the coupling device preclude its further
exploitation. Damaged coupling device cannot be repaired. In case of braking the rules of
montage or improper usage manufacturer do not take responsibility for possible damages.

The manufacturer guarantees compliance of the product with the characteristics specified in
the these instruction during the warranty period, in case if all requirements to compliance
with manufacture installation requirements.

The manufacturer is not responsible for damage to the property of third parties as a result of
incorrect storage and operation of the product.

Follow national guidelines for technical acceptance of the coupling device.

The warranty does not apply in cases where defects appear due to the consumer or third
parties’ fault, as a result of violation of the transportation, storage, installation and operation
requirements, as well as changes and modifications into the construction.

Instruction for installing the coupling device recommended by the manufacturer in this
document was developed based on the technical specifications applicable at the date of
writing this text. In can be changed in case of introduced by the manufacturer modification
of the production process and in the case of extending the use of the coupling device.




UHCTPYKLMUSA NO YCTAHOBKE
Installation instructions

X @&~ LUtatHble MeTU3bI KpenneHus — 4
ycunuTens saapHero 6amnepa

(Rear bumper beam _cor}necﬁon

standard device,




LLUAT 1.

[epen HOYANOM YCTAHOBKM TpEBYETCS
OEMOHTMPOBATb 304HME GOHAPU U 3A4HWIA
6aMnep COrfacHO PYKOBOACTBY MO SKCMy-
aTALMM OBTOMOGUNS. JEMOHTUPYTE LITAT-
HYytO 6AsIKY, CHSB ee C KpenneHun. CHuMnTe
ANEKTPUKY C KpenneHun. [lns yoo6CcTea
OanbHeNLEeN YCTAHOBKN pekoMeHayeTcq
NpPenBApPUTENBHO 3AKPEMNUTL KOPMYyC
MEeXAHM3MA BbICTPOCHEMA Ha 6anke TCY
npw nomoLLm 6ontos M12x25, wané 12 n
Lan6 12 rpoeepHbix. COBMECTUTE OTBEPCTUS
B 60S1KE C OTBEPCTUSAMM B JIOHXEPOHE U
3adUKCUpyiTe ee NOMOXEHME NPKU MOMOLLM
pPOHee 0eMOHTUPOBAHHBIX METU30B CO
LUTATHOM 6AIKM, O TAKXE METU3AMN 13
noctaeku - 6ontamu M10x1,25x35, rankamm
M10x1,25, wanéamm 10 v wanéamm 10
rPOBEPHbLIMM.

CoepgunHeHus He 3aTarnsars!

STEP 1.

Before starting installation you need remove
the tail lights and rear bumper according to
the vehicle's operating manual. Dismantle
the standard beam by removing it from its
mounts. Remove electrician from the
fastenings. For comfort further installation is
recommended pre-fix the towball socket on
the coupling device beam by using M12x25
bolts, 12 washers and 12 lock washers. Align
the holes in the beam with the holes in the
spar and fix its position using previously
dismantled hardware from the standard
beam, as well as hardware from supplies -
M10x1.25x35 bolts, nuts M10x1.25, 10 washers
and 10 washers growers.

Do not tighten the connections!

P
LUAT 2.
YCTOHOBWTE 30KOAHbIE MAACTUHDBI B
TexHosornyeckme oTBepPCTUS JIOHXEPOHA C
MPABON U NIEBOV CTOPOHLI ABTOMOBUIIS.
CoBMeCTUTE COOTBETCTBYIOLLME OTBEPCTUS B
30K/IAOHBIX OETANSAX C OTBEPCTUSAMA B
JIOHXEPOHE 1 3APUKCUPYITE NONOXEHME
npwv nomoLum éontos M12x1,25x35, wané 12 n
Wwainé 12 rpoeepHbIx. COBMECTUTE OTBEPCTUS
Ha 6arke C OTBEPCTUSAMM B 30KITAAHbIX
OEeTansX 1 3aPpUKCUPyTE NONOXEHNE NPU
nomoLum 6ontoB M10x1,25x35, raek M10x1,25,
Wwarné 12 v wané 12 rpoBepHbIX.
Otperynupyiite nonoxexumne TCY n 3ataHuTe
| BCe coeauHeHms.

STEP 2.

Install the mounting plates in technological
holes of the spar with right and left sides of
the car. Align the corresponding holes in
embedded parts with holes in spar and fix
the position using M12x1.25x35 bolts, 12
washers and 12 lock washers. Align the holes
on the beam with the holes in the embeds
parts and fix the position when using
M10x1.25x35 bolts, M10x1.25 nuts, 12 washers
and 12 lock washers.

Adjust the coupling device position and
tighten all connections.

LLIAT 3.

MNepen ycTaHOBKOM 30QHEro 6amnepa
nofpexbTe ero v TennoBOn OTPOXATESb MO
BbICTYMQIOLLMM YACTSM TOAKUM XE 0OB6PA30M,
KOK 3TO MOKA3AHO Ha cxeme.llogcoenmHnTe
3NEKTPUKY. YCTAHOBUTE PAHEE OEMOHTUPO-
BOHHbIM 300HWIA 6aMNep 1 3agHm1e GoHapU.
YCTOHOBWTE KPOHLUTENH PO3ETKM, 30KPEnvB
€ro MNosIoXeH1e LITATHBIM 60NTOM Kpenne-
HWS 3a4Hero 6aMnepa.

STEP 3.

Before installing the rear bumper cut it and
the heat reflector along the protruding parts
in the same way as shown in the picture.
Connect the electrical. Install rear bumper
and tail lights. Install the socket bracket,
securing its position with the standard rear
bumper mounting bolt.

P
LUAT 4.

BcTaBbTe KpHOK B MPUEMHYIO YOCTb GapKona,

ero ganbHenwas Gukcaums 1 3anMpaHme

NpPOoV30MaYT OBTOMATUYECKM.

YcTaHOBKO 30BEpLUEHA!l

STEP 4.

Insert the towball into the coupling device
socket, its further fixation and locking will
happen automatically.

Installation completed!




UHCTPYKLUMA NO YCTAHOBKE KPIOKaA
Installation instructions

~N




MNepen TeM, KaK UCMOSb30BATh ChEeMHbIN KPIOK, HEOBXO0-
LMMO O3HOKOMUTBLCS C UHCTPYKLMEN.

BHeceHwve n3MeHeHU B KOHCTPYKLMIO CbeMHOrO KPIoKa
Y NPUeMHOe OTBePCTME 3AMpPeELLEHO.

Kakne-nnéo mexaHnyeckmne NoBpexaeHs CbeMHOro
KPIOKQ 1 MPUEMHOrO OTBEPCTUS MCKITIOYAIOT ero
OONbHENLLYIO 3KCMNYATALMIO.

[1ns MOHTOXA M OEMOHTAXA CbeMHOro kproka (1)
HEeo6Xx0aMMO MPUMEHSTb TOMBKO CUITY PYK. Micnonb3osa-
HWME OOMOSHUTENbBHBIX MHCTPYMEHTOB MOXET MPUBECTU K
MOJSIOMKE CLEMHOro MEXAHM3MA.

MponsBoamTENb He HECET OTBETCTBEHHOCTM 30 BO3HWUK—
LUMe MOBPEXOEHMS B CIydae HECOBMIOAEHNS MPABMUIT
SKCMAYATALUMM Y MOHTOXA CbEMHOMO KPIOKQ.

Kakgsir pas nocne yCTAHOBKM Cbe@MHOTO KPIOKA B
npreMHoe OTBEPCTUE HEOBXOANMO YEEeOUTLCS, UTO Bbl
BUAMTE 3eNIeHOoe MoJie HA PYKOSTKE CbEMHOTO KPIOKA
(3), M IPUMEHWTL LOMONHUTENBHOE GUNUYECKOE YCUnE
LS TOrO, YTO6bl y6eOUTbCS, YTO ChEMHbIN KPIOK HOOEX-
HO 3aKperneH B MPUEMHOM oTepCTUM (6).

CofepxuTe B UACTOTE 3AMOPHBIN MEXAHN3M CbEMHOrO
KPIOKA 1 MOocaiodHoe MecTo. Mocne AeMoHTAxa
CbEMHOTO KPIoKa ycTaHosuTe 3arnyLuky (1). Hanndune
NOCTOPOHHMX 3ArPS3HEHN MOXET NMPUBECTU K HEKOP-
PEKTHOM PaBOoTe n3nenms.

OTCOeanHNUTE CHEMHBIN KPIOK, €CNN Bbl HE MaHUPYeTe
MCMOMb30BATH MPULLEN.

Please read the manual, before using the towball.

Any modiifications of the towball and the socket are
straightly prohibited.

Any mechanical damage of the towball and the socket
precludes its further exploitation.

You have to use only arm force to install and dismantle
the towball (1). Using additional tools may damage the
coupling mechanism.

The manufacturer is not responsible for damage caused
in case of non-compliance with the rules of operation
and installation of the towball.

) () Each time you install the towball into the socket, you
must ensure that you can see the green field on the
towball handle (3) and apply additional physical force to
ensure that the towball is securely fastened in the
socket. (6)

Keep the towball locking mechanism and socket clean.
After removing the towball, install the plug (1). The
presence of foreign contaminants may lead to incorrect
operation of the product.

J V) Detach the towball if you do not plan to use a trailer.

J




MpoussoamTENb FAPAHTUPYET COOTBETCTBUE U3 XAPAKTEPUCTUKAM,
YKO3OHHBIM B MACMOPTE, B TEYEHNE rapaHTUAHOMO CPOKA, NP COBoaeH!N
TPEBOBAHWI MO YCTAHOBKE W SKCMIYATALMK. T[APAHTUS HE PACMPOCTPAHSETCS
HQO crydan, Koraa gedekTbl BO3HUKIIM MO BUHE MOTPEBUTENS MW TPETbUX KL, B
pe3ynbTaTe HAPYLLEHNUS MPABU TPAHCIOPTUPOBKM, XPAHEHMS, MOHTAXA,
SKCMYATALMM, O TAK KE BHECEHUS UBMEHEHUI 1 [OPAB0TOK
B KOHCTPYKLMIO.

MpounsBoamTenb HE HECET OTBETCTBEHHOCTM 30 HOHECEHME YLLEeP6a UMYLLIECTBY
TPETHUX NULL B PE3YSETATE HEMPABUIBHOIO
XPAHEHNS U SKCMNYATALMN U3AENMS.

The manufacturer guarantees compliance of the product with the
characteristics specified in the manual during the warranty period, in case of
installation and operation requirements compliance. The warranty does not
apply in cases where defects appear due to the consumer or third parties' fault,
as a result of violation of the transportation, storage, installation and operation
requirements, as well as changes and modifications into the construction. The
manufacturer is not responsible for damage to the property of third parties as a
result of incorrect storage and use of the product.

CBUAOETEJSIbCTBO O NPUEMKE
CERTIFICATE OF ACCEPTANCE

[aTa ynakosku Ltamn OTK
Packing date Stamp of the
Quality control

CBUAETENBbCTBO O NPOLOAXE

SALE CERTIFICATE
JaTta npopokun Lramn marasuHa
Date of sale Store stamp

TOPAHTUIAHBIR CPOK 12 MecsLEB C AATbI PO3HUYHOM MPoaaxu. CoxpaHsitTe
[IOHHbIA JOKYMEHT B T@YEHME BCEro MAPAHTUHOIO CPOKA.
(Warranty period is 12 months from the date of retail sale. Keep this document
during the entire warranty period.)



